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&51 "1 know you. Choose the complex form-

T®43 | know who you are

&1 ___ course of time, he became a famous writer.
ICREHIN

&9l inkin my pen is red.

@@ﬁ s The

¢8| Complete the sentence with the appropriate word: Poly ran fast lest she__miss the
class.

@\‘521. $ should
¢ & | Which one is correct?:

@@El. sThere is no room for doubt in it.

&Y | Which one is the correct English translation of* &AI(dd OUH TG S "2
ICREEIY empty vessel sounds much.

&Q1| The doctor will come back to the ward in to time. The underlined phrase means-
[CREE instantly

&b’ | The memoranda not important.

B8<s are

¢>| The word' decade ' refers to

Gads ten years



Yol No spelling occurs in-

[CIREE: Extravagant

b5 | None but brave deserve fair.

@WS the, the

Y| If you help me, | grateful.

B2 will remain

Y9 | Which is the correct form of Assertive of " Who does not like a rose"?
[CIREE: Everyone likes a rose.

L8| Had you walked fast, you the train. The correct form of verb will be-
B2 would not have missed

W& | SR GUTHT B 4T 12 '-The best translation is-

Ga42 The tree has not yet borne fruit

YWY | The word ' heritage' refers to-

$&<2 Tradition

YA | The price of mango is high in our country,  We turn this land into a mango
orchard?

Oade what if
Y| Ignorance is obstacle  progress.

@\‘Bﬁ sto

Lo | Very few insects are as busy as a bee. The correct comparative form of the
sentence is-

@\‘521. s A bee is busier than most other insects.



Qo | Fifty miles__ not a long distance.

ICREHIS

Q% | He came home yesterday. Choose the correct interrogative form of the sentence:
G342 Did he come home yesterday?

Q| The verb form of ' danger' is-

CIRRH endanger

Q| (TN T (SN F4-The translation is-
G@3 As you SOW SO you reap.

Q8| Choose the correct answer-

T2 | will avail myself of the opportunity.

Q& | The antonym of' vice ' is-

@@ﬁ S virtue
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